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RRETHIETFHE (53 5FR) ME

B & OBf B R



—R2EEEFE (E35) FAlEFE

M ®m A (HAZ T - %)
K FIERTORE | WAL FHIERE it R EE
1 17 i 18, 247, 603 47.5 18, 247, 603 47. 4
2 M 5 E 5 W 193, 001 0.5 193, 001 0.5
I | B S/ < 95, 000 0.2 95, 000 0.2
4 B Y B R A & 45, 000 0.1 45, 000 0.1
5 fzk A% E%f P %‘fg 10, 000 0.0 10, 000 0.0
6 M7 H B A AT e 1, 250, 000 3.2 1, 250, 000 3.3
7 ST SRR 4 29, 000 0.1 29, 000 0.1
8 H Bl =L B A5 Bl A2 AT 4 100, 001 0.3 100, 001 0.3
9 .?ﬁﬁﬂﬁ Eff kﬁg 14, 662 0.0 14, 662 0.0
10 M 5 %F B &2 £ & 105, 526 0.3 105, 526 0.3
i 5 & f+ 713,732 1.9 713,732 1.9
12 é i % %f H ﬁ’i} 15, 000 0.0 15, 000 0.0
13 o#HE& KA HE 458, 162 1.2 458, 162 1.2
14 i 1 BF K O F OBk 920, 947 2.4 920, 947 2.4
15 B X & 6, 824, 706 17.8 6, 824, 706 17.7
6# < W & 5,481, 983 14.3 41, 000 5,522, 983 14. 4
7 o I A 7,316 0.0 7,316 0.0
18 %F & 1 0.0 1 0.0
19 f& A & 758, 225 2.0 758, 225 2.0
20 ik & 957, 163 2.5 957, 163 2.5
21 & I A 609, 772 1.6 609, 772 1.6
22 T f& 1, 596, 000 4.1 1, 596, 000 4.1
w AN & F 38, 432, 800[  100.0 41,000 38,473,800  100.0




(2) BHIRImH

(BEAL:FH - %)

K FIERTORE | MR fHIERE it R EE
1 % = ¢ 376, 806 1.0 376, 806 1.0
2 ¥ % 2 4,675, 161 12.2 41, 000 4,716, 161 12.3
3R 4 # 18, 362, 122 47.8 18, 362, 122 47.7
4 4 # 3,213,073 8.3 3,213,073 8.3
5 95 0] # 86, 276 0.2 86, 276 0.2
6 f= N # 34, 390 0.1 34, 390 0.1
7 P T % 185, 376 0.5 185, 376 0.5
8 t PN # 3,192, 297 8.3 3, 192, 297 8.3
9 H %] # 1, 390, 630 3.6 1, 390, 630 3.6
10 # A # 4, 470, 152 11.6 4, 470, 152 11.6
1K %F # B # 1 0.0 1 0.0
12 & &5 # 2,416,016 6.3 2,416,016 6.3
135 X W & 500 0.0 500 0.0
14 ¥ fisi # 30, 000 0.1 30, 000 0.1
w A 38,432,800  100.0 41,000 38,473,800| 100.0

(3) MERL (BAZ: T - %)
X FIERTORE | MR fHIERE it R EE
1 A : 2 6, 447, 682 16. 8 14,911 6, 462, 593 16. 8
2% 7 # 5,829, 494 15.2 25,954 5, 855, 448 15. 2
SIS S 290, 043 0.7 290, 043 0.7
4 B # 12,474, 115 32. 4 12,474, 115 32.4
54 B B % 3, 069, 339 8.0 135 3, 069, 474 8.0
6% B A R EH 2, 638, 643 6.9 2, 638, 643 6.9
TR EIE B FE EE 1 0.0 1 0.0
8 /A & # 2,416,016 6.3 2,416,016 6.3
9 FH ST 4 637, 817 1.7 637, 817 1.7
nEE K ®HE & 0 .0 0 0.0
115 F 4 7,000 0.0 7,000 0.0
12 H 4 4, 592, 650 11.9 4, 592, 650 11.9
13 7 fii % 30, 000 0.1 30, 000 0.1
wm & F 38, 432,800  100.0 41,000 38,473,800  100.0




2 HEFHEHOME

1) BAFE (BT 1)
34 HIEXE i 1E M s A B
1688 X H £ 41, 000 | En S s T R4 41, 000|4#iBh=:10/10
BA&E 41, 000
(2) BHEFTE(EERAR) (HEAL:TH)
X % THIE%E i 1 M s L
TA & & 14, 911 | $% ZE2A8 B - B BT 2 N Sl ol 2,036
BeBH B e FE E RN B Y 12, 875
2% B & 25, 954 |G RENEk B &4 593
RS HIE R 1,252
TR B X U S F R S 562(53, 0004
NP e S R} 2, 79754, 0005
BEEE A AT - B B B R T 954
B
AN E AN R 1,241
ANGHEH B 5T 1,913
AR L — RGBSRt 5, 797|151 %77
A AT A
A R B A S T AR 2, 116 | oo /20110
12/8~12/11
B FE B Bhae Uy BRI A 6,700| 2 &
S5 BB F 135|R A & — ¥ iGaR & 1 /18 AL S 135
A 41, 000




3 HEELMEDKR

(1) &£ (BAT: 5 5 1)
i3 244
N sk | 2atpiek 2R e
BLE® BUER | gy manm | mun RiAE 7
iU G - S S 2, 555 2,572 481 524 2,529
N H= iy Eut ik =
f & ;}g ”;Z g /@ 1,228 1, 248 88 150 1,186
7l = N ia)Y 2z 1/ AN
iié = ﬁj e F ; B p 400 340 0 0 340
& b #HE E K & 310 310 0 0 310
B K B A 3
S T 56 56 0 19 37
A N fe S Ean
5? E@M éj mﬁ b %@ /g 754 754 1 0 755
»OO#® B OW x4 32 55 40 20 75
oo e N — y EEEE S 0 64 28 1 91
= i 5, 335 5, 399 638 714 5,323
(2) & (LA B 5 )
e 24 i
IZ: éj\ 22%&1‘22‘{ 23415&#;'{ 2445'5}_; fﬁlﬁéﬁﬁr—ﬁj{ﬂ
B BUER | o minm | s mias 4
& =+ E 15 13, 236 12, 664 366 1,114 11,916
R & Hh & 11,314 11,497 1, 230 980 11, 747
WO O E & 2,617 2,217 0 406 1,811
NS A T <= R ¥ 311 266 0 45 221
We B OB B %t 5 OH 8, 386 9,014 1,230 529 9,715
= 7t 24, 550 24, 161 1, 596 2, 094 23, 663
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